

Name: Key

Show your work. Answers without work earn reduced credit.

1. [7 parts, 1 point each] Differentiate the following functions.

(a) $(5x^2 + 1)^6$

$$\begin{aligned} & 6(5x^2 + 1)^5 \frac{d}{dx} [5x^2 + 1] \\ &= 6(5x^2 + 1)^5 \cdot (10x + 0) \\ &= \boxed{60x(5x^2 + 1)^5} \end{aligned}$$

(b) $y = \sqrt{s^3 + 1}$

$$\begin{aligned} \frac{d}{ds} [(s^3 + 1)^{1/2}] &= \frac{1}{2}(s^3 + 1)^{-1/2} \cdot \frac{d}{ds} [s^3 + 1] \\ &= \frac{1}{2\sqrt{s^3 + 1}} \cdot 3s^2 = \boxed{\frac{3s^2}{2\sqrt{s^3 + 1}}} \end{aligned}$$

(c) $f(x) = 4x^2 + \ln(x^2 + 1)$

$$\begin{aligned} f'(x) &= 8x + \frac{1}{x^2 + 1} \cdot \frac{d}{dx} [x^2 + 1] \\ &= \boxed{8x + \frac{2x}{x^2 + 1}} \end{aligned}$$

(d) $y = x \ln x$

$$\begin{aligned} \frac{d}{dx} [x \ln x] &= \frac{d}{dx} [x] \ln x + x \frac{d}{dx} [\ln x] \\ &= 1 \cdot \ln(x) + x \cdot \frac{1}{x} \\ &= \boxed{\ln(x) + 1} \end{aligned}$$

(e) $y = (x + 4)^6(x - 1)^3$

$$\begin{aligned} \frac{dy}{dx} [(x+4)^6] (x-1)^3 &+ (x+4)^6 \frac{d}{dx} [(x-1)^3] \\ &= 6(x+4)^5 \frac{d}{dx} [x+4] (x-1)^3 + (x+4)^6 3(x-1)^2 \\ &= \boxed{6(x+4)^5 (x-1)^3 + (x+4)^6 3(x-1)^2} \end{aligned}$$

(f) $f(x) = (\ln(x) + e^{2x})^5$

$$\begin{aligned} f'(x) &= 5(\ln(x) + e^{2x})^4 \cdot \frac{d}{dx} [\ln(x) + e^{2x}] \\ &= \boxed{5(\ln(x) + e^{2x})^4 \cdot \left(\frac{1}{x} + 2e^{2x}\right)} \end{aligned}$$

(g) $f(x) = \frac{x^3 + 2x}{x^2 + 1}$

$$\begin{aligned} f'(x) &= \frac{(x^2 + 1) \frac{d}{dx} [x^3 + 2x] - (x^3 + 2x) \frac{d}{dx} [x^2 + 1]}{(x^2 + 1)^2} \\ &= \boxed{\frac{(x^2 + 1)(3x^2 + 2) - (x^3 + 2x) \cdot 2x}{(x^2 + 1)^2}} \end{aligned}$$

